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Electrically Short Dipole Antennas

For Linear current
distribution
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Electrically Short Dipole Antennas

C

For sinusoidal current
distribution
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Monopole Antenna

{ Power radiated and
For Linear current radiation resistance will be
distribution half of corresponding

dipoles
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Monopole Antenna

{ Power radiated and
For sinusoidal current radiation resistance will be
distribution

half of corresponding
dipoles
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Half — Wave Dipole Antenna
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for half wave dipole physical length | = 1/2 means
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Actually the value of R_for half wave dipole is 73 W.
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Vertically Earthed Antenna

In case of vertically grounded short antenna, antenna should be quite short and all rays will be
parallel to ground ({.e,, sin 8 = sin 90° = 1). If we take sinusoidal current distribution then power
due to vertically short dipole is given by
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But in case of grounded vertical antenna of effective length {1), due to image effect apparent
height will be 21, so
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Thanks for

Listening

Any Question
Please...



